1817-004 Window Lens Lexan 1894-020 Standoff Nylon 2-56x500 1837-028 Sub Plate Flush (8Line)
4X OPTIONAL

1837-058 Faceplate

2600-735 Hole Plug 250

3002-021 Spacer Nylon 3-8 1897-053 Gasket Mic
~ Color Camera
1896-012 Display 8 Line OPTIONAL 9‘/400]_035 Lock Cylinder b
1860-029 Washer Nylon 1894-004 Screw 2X
4X OPTIONAL

2902-003 Nut Nylon Locking 6-32
18X

1897-051 Microphone Board

/—1817—197 Speaker Gasket
|

. —2601-204 Weather strip 13

3X
2904-003 Screw 4-40x1-2

2X
1702-525 Lock Tab 1804-042 SS Hole Plug 875
2X
1702-501 Lock Cam Flat 875
2X =
1830-402 Memory 3k -
1835- PC B Nut Lock Cyli
835-009 PC Board ut Lock Cylinder 2600-584 Phone Heater Assy
PTIONAL
2601-206 Weather strip 11 OPTIO
TOP Converter Box tcp
4001-018 Weather strip 12 OPTIONAL
SIDES 2X
2902-002 Nut Nylon Locking 4-40 2700-918 Standoff Threaded
2X OPTIONAL
4X
~ . 1804-024 Micro Switch
2601-377 Card reader Logo Plate
2601-376 Logo Plate Inner Text B
1471-010 LED Board DKS Prox
2601-357 Spacer Nylon
2X
1860-029 Washer Nylon Card reader DK Prox
OPTIONAL
1817-191 Speaker Gasket 2616-001 Screw 6-39x3-8
1804-075 Speaker Obround 1895-032 Keypad Lighted
1895-035 A-Z-CALL Buttons 3.22
1804-012 Screw Nylon 6-32x3-16
1804-039 Keypad Strap
——2616-001 Screw 6-32x3-8 5X UNLESS OTHERWISE SPECIFIED: NAME DATE % A
DRW
2601-103 Hole Plug 12X DINEI\II\I Ishllgng:g:E CHK Door King Systems
4X ~2616-002 Screw 6-32x1-2 TOLERANCES: .
» g e "= Phone System
1814-167 Flush Frame 1814-103 Enclosure 1814-049 Card Edge Conn 20 Pin XXXX 2 0007 Ig(/)\PR[ETARYANDCONFIDENTIAL MOdel ] 837-090
Material: Noted W Eawice s sorp | SIZE DWG. NO. REV
Motes: Unles Ofherwiss Soacifiod 2902-003 Nut Nylon Locking 6-32 2902-006 Nut Nylon Locking 10-32 stoon | Fimish:NotedAmmomereviminaos, B 1837-090 A
ofes. Uniess erwise specinied. 3X | APPUCATION 5o NOTSCALEDRAWING.  © BROMIBITED. | SCALE: 1:50 SHEET 1 OF 1

8 7 6 5 4 1 3 2 1



	Sheet1
	Drawing View1


